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fe 3 = [Cp+0.25Cpx1.32+0.25Cpx1.74 (Ed-1.5Cp)

4 |I.5Cp<Ed=175Cp pP.30Uq x2.30] xQwxUg/1000

fe = [Cp+0.25Cpx1.32+0.25Cpx1.74+0.25 Cp*2.30

175 Cp <Ed=2 C .
. P P BO3UA [ k41 750p) *3.03] xQwxUq/1000
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(Z)H 3P K2 ¥
1~T3a4y > kA g BMERERXTLSF T F (/kg) X RFA &R X
Gl(Gr4) > P E 2R

7% P kR H i 7
233 E 260 mg/L 7 5 790~ kg
AWEE 50 mg/L 7 o 7907 kg
wA 0.005 mg/L 37 5 539,500 ~ /kg
4% 0.03 mg/L 37 5 %7,900 % /kg
A 2.0 mg/L 37 5 51,580 ~ kg
Foh 0.5 mg/L 37 5 1,580 /kg
- 18 4% 0.5 mg/L A7 5 790 /kg
i 3.0 mg/L A1 o 790 kg
& 1.0 mg/L A7 o 7907 kg
4 0.9 mg/L 1 o BT790 7 kg
47 5.0 mg/L 37 ‘_: i1 ,000 = /kg
4 0.05 mg/L 37 5 52,370~ /kg
@ 0.5 mg/L 37 5 ¢,, 2,370 ~ /kg
42 2.5 mg/L A7 o % 1,580 kg
41 0.5 mg/L A7 o %1,000 7 kg
o 0.5 me/L 37 5 ¢,%1 ,000 = /kg
i 5.0 mg/L 7 o % 1,580~ kg
A R4 10 mg/L T o r'Ff"l ,000 7 /kg
9 A 3.0 mg/L 37 5 % 1,000 % /kg
BE AT 0.5 mg/L A7 o 1,580 % /kg
Edd R 400 — 37 5 %790 % kg
R s PR 10 mg/L 37 i 1,000 % /g
A 1.0 me/L 37 5 51,580 ~ kg
PRI 15 mg/L 37 5 52,000 ~ /kg
Fiit g 1.0 mg/L 7 o % 1,580~ kg
§ivs 1.0 mg/L A7 o 7,900 % /kg
(e g i) 30 mg/L 37 5 51,000 ~ kg
YRR 1.37 mg/L 37 5 ”;5‘7 900 = /kg
& 5.0 mg/L 37 5% 1,580 =~ /kg
B R AR 10 mg/L g F':., 790 ~ /kg
4% 0.1 mg/L 37 5 %3,000 7 /kg
4F) 0.1 mg/L #7 o 43,000~ kg
8 11017 1p F1 o 13,000 % kg
4p G mg/L
113&171p
5 2.0 mg/L 27 5 51,000 ~ /kg
im 15 mg/L 1 o %3,000 % kg
sy 4.0 mg/L —
pod oaneRE 2.0 mg/L —




A HB RFAED AR I A

AN

&R (mg/L) 3% KEFA BT E SN ()
| [Ed=Cp 1Uq [fe% =0
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1.5Cp<Ed=1.75 Je# = [Cp+0.25Cp=1.32+0.25Cpx1.74 ( Ed-
* lep 23004} scp) x2.30] xQwxUq/1000
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36 AMeplEd Y =0 Cp<Ed=3Cp
4 R AR RS I A
4.5 AN ERRVEL P - 5
4.8 AZMERLER Y -9
51 hERAEE Y =g 3Cp<Ed=6Cp
5.5 AL B R B IF 2 )
6 AR ERUEH ¢ -
6.3 AZMERLER Y -7
6.6 A RTEd Y Zof 6Cp <Ed=9Cp
7 AR MR E e 7F N7 b
7.5 AR TE L Y -
7.8 AZMERLER Y -7
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P LEd=3%9805 440 % 2 e K (mgll) 5 Cp=323075 %47 2 e R U K R (mg/L) -
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